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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
SCIENCE 

Cod liver oil, fish, shiitake mushrooms, and fortified milk are good sources for it.  Its functions include inhibiting parathyroid hormone secretion. It is vital for properly utilizing calcium and phosphorus, thus enabling bone formation.  Name this fat-soluble vitamin that prevents rickets and is synthesized by sunlight in the skin.

ANSWER: vitamin D
TOSSUP 2
SOCIAL STUDIES

Three half-sized replicas of its most famous component travel around the country. It opened in 1982, a Frederic Hart statue of three soldiers was added in 1984, and a Glenda Goodacre statue of a woman with an empty helmet was added in 1993. However, what memorial in Washington DC is best-known for Maya Lin’s black granite sculpture, a wall on which is carved 58,256 names? 

ANSWER: the Vietnam (War) Veterans Memorial (accept Vietnam Wall before ‘wall’ is said, prompt on ‘The Wall’)

TOSSUP 3
LITERATURE

His last adventures include being stranded on a mountaintop by devilish bird-men and being asked to deliver a gift to the king of Serendip. He also deals with giant birds called rocs, and defeats The Old Man of the Sea by making wine, which he technically couldn’t drink. A porter with the same name hears the stories of his seven voyages around the Indian Ocean. Who is this sailor in The Arabian Nights? 

ANSWER: Sinbad
TOSSUP 4
SOCIAL STUDIES

Unangan (oo-nahn-gahn) is what natives of these islands call themselves. Russia’s Commander Islands are connected to these islands via an underwater mountain chain. Islands in this chain include Shemya, Little Sitkin, Umnak, Attu, and Kiska. The western part of the Alaska Marine Highway ferry service connects what islands which extend off Alaska’s southwestern peninsula?

ANSWER: Aleutian Islands

TOSSUP 5
SOCIAL STUDIES

This nation is now a republic where the political parties New Democracy and PASOK (pah-sawk) alternate in power. On October 28, 1940, this nation rejected an ultimatum from Mussolini and then defeated the Italian invasion. In 1967, the monarchy under Constantine II was replaced by the ‘Regime of the Colonels’ in what country, where power passed on to Giorgios Papadopoulos (pah-pah-daw-poo-los)?

ANSWER: Greece
TOSSUP 6
LITERATURE

He wrote a description of anti-Greek riots in Istanbul for the London Times. His success as a writer enabled him to retire to his estate, Goldeneye. He wrote a memo to ‘Wild Bill’ Donovan outlining how to set up an intelligence service as well as the children’s book Chitty Chitty Bang Bang. Who is better known for the novels Moonraker, Thunderball, From Russia with Love, and Goldfinger, all featuring Bond. James Bond? 
ANSWER: Ian Fleming

TOSSUP 7
MISCELLANEOUS

This character was voiced by Lorenzo Music in his Saturday morning animated series.  Not a fan of February, he is known to consider it to be "the Monday of months."  In more recent years, this character's Macy's Thanksgiving Day Parade balloon has been shown holding his teddy bear, Pooky.  Who is this orange tabby, known for his love of lasagna and indifference towards his owner Jon Arbuckle, drawn by Jim Davis?

ANSWER: Garfield
TOSSUP 8
FINE ARTS

In 1948, he produced his last work titled, oddly enough, Four Last Songs. He wrote the hymn of the 1936 Olympics. He wrote comic operas including Der Rosenkavalier and included the Dance of the Seven Veils is included in his serious opera Salomé. The music at the beginning of 2001: A Space Odyssey is the tone poem Thus spake Zarathrustra by what composer? 


ANSWER: Richard Strauss
TOSSUP 9
LITERATURE

Its first edition was published in 1855, major additions were made after the death of Abraham Lincoln, and its ‘Death-Bed’ edition was published in 1892 – expanding it from 12 poems to over 400. ‘Out of the Cradle Endlessly Rocking,’ ‘When Lilacs Last in the Dooryard Bloom’d,’ ‘I Sing the Body Electric,’ and ‘Song of Myself,’ are all included in what poetry collection by Walt Whitman?

ANSWER: Leaves of Grass
TOSSUP 10
LANGUAGE ARTS

If someone in Marseilles (mar-say) is looking at un oiseau (uhn wah-soh), what is he or she looking at? 

ANSWER: a bird
TOSSUP 11
MATH

THIS IS A COMPUTATION QUESTION. What percentage of a chessboard is occupied at the start of a game, given that each player starts with 16 pieces and the board is 8 squares by 8 squares?

ANSWER: 50 percent

TOSSUP 12
MATH

THIS IS A COMPUTATION QUESTION. What is the mean of 14, 96, 33, 127, 35, and 55?

ANSWER: 60
TOSSUP 13
SCIENCE

This agreement splits nations into ‘Annex I’ (annex one) or developed countries, and ‘Non-Annex I,’ or developing countries. It allows for offsets and credits to count as ‘reductions’ of the target chemical compound. Australia and the United States are the only two developed nations not to sign what document related to the United Nations climate change treaty and authored in Japan?

ANSWER: Kyoto Protocol

TOSSUP 14
MATH

THIS IS A COMPUTATION QUESTION. What is the degree measure of an angle measuring 4 pi over 9 radians?

ANSWER: 80 degrees

TOSSUP 15
SCIENCE

It is the name of species of plants within the Nepeta genus. Some researchers theorize that lions and tigers are affected by it, but no one’s gotten close enough to see whether they roll around in it, chew it, and paw at it. What is this plant that causes those behaviors among ordinary domestic felines?  


ANSWER: catnip or catmint
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LANGUAGE ARTS

Russian and Hungarian do not have this type of verb, and it is dropped in some forms of African-American Vernacular. Some verbs, such as “to feel,” “to seem,” and “to become,” can also serve as these, although forms of “to be” are probably the most often used.  What type of verb connects or equates the subject and predicate, as in the sentence “Bob is a good Scholastic Bowl player?”

ANSWER: linking verb(s) or copula(s)

BONUS 16
SCIENCE

Which medical specialty deals with medical problems associated with . . .

A. 
Pregnancy and childbirth?

ANSWER: obstetrics [accept word forms for all parts; prompt on “OB” or “OB/GYN”; do not prompt on “gynecology”]

B.
The elderly?

ANSWER: geriatrics (do not accept “gerontology”)

C.
Children?

ANSWER: pediatrics
D.
The mind, such as depression, as opposed to “organic” disorders of the brain such as stroke?

ANSWER: psychiatry [do not prompt on “psychology”]

TOSSUP 17
MISCELLANEOUS

He formed a musical group with Trent Lott, John Ashcroft, and Jim Jeffords. He was considered in the running for Secretary of the Interior, but his state’s governor Dirk Kempthorne was nominated instead. His foot-tapping proclivities came under fire this summer, as he was arrested for lewd conduct in the Minneapolis-Saint Paul International Airport. Possessing a wide stance is what Senator from Idaho?


ANSWER: Larry Craig

BONUS 17
FINE ARTS

Identify the following about special effects in music.

A.
In his tone poem "Pines of Rome," this composer instructed that pre-recorded bird calls be played at the end of the third movement.


ANSWER: Ottorino Respighi
B.
George Gershwin brought back a set of taxicab horns from the title location to use during the "walking theme" at the start of this piece.


ANSWER: An American in Paris
C.
In the overture to "Il Signor Bruschino," this composer more famous for "William Tell" turned violins into percussion instruments.


ANSWER: Gioacchino Rossini
D.
The pre-recorded sounds of this creature put Alan Hovhaness (Ho VON Ess) into the Guinness Book of Records for writing a piece of music for the "Largest Performer" ever.


ANSWER: (Humpback) Whale (note:  The piece is titled "And God Created Great Whales")

TOSSUP 18
SCIENCE

A variant of it using boron trifluoride is used to measure neutrons.  It uses an inert gas-filled tube and displays output through a needle, lamp, or audible clicks.  It is named after a German physicist and sometimes also after Walther Muller.  Name this device that is used to measure amounts of ionizing radiation.

ANSWER: Geiger counter
BONUS 18
SOCIAL STUDIES

Identify these Revolutionary War generals.

A.
He somehow received credit for victory at Saratoga, but was sacked after the disaster at Camden.


ANSWER: Horatio Gates
B.
He was nicknamed the ‘Swamp Fox’ for his ingenious guerrilla tactics.


ANSWER: Francis Marion
C.
He commanded the Green Mountain Boys and captured Fort Ticonderoga.


ANSWER: Ethan Allen
D.
A monument to him at West Point lists only his rank, major general, and his year of birth, 1740. 


ANSWER: Benedict Arnold
TOSSUP 19
SCIENCE

This disease got its nickname from the shared nationality of the doctor who first identified it and the doctor who differentiated it from scarlet fever. Its symptoms include low-grade fever, swollen glands, rash, and dry, flaking skin.  It was declared eradicated in the U.S. in 2005.  Name this disease, also known as German measles, that is the R in the MMR vaccine.

ANSWER: rubella (accept German measles until it is said in the question)

BONUS 19
SCIENCE

Answer these questions about the Sun:

A.
The Sun produces energy by what process in which smaller nuclei form larger nuclei?

ANSWER: nuclear fusion
B.
What name is given to the average distance from the Earth to the Sun, a distance of about 90 million miles?

ANSWER: astronomical unit [accept AU]

C.
The Sun's light is produced in which outermost region? 

ANSWER: photosphere
D. 
What phenomenon occurs when the Sun's light does not reach Earth because the Moon lies between the Earth and the Sun?

ANSWER: solar eclipse [prompt on “eclipse”; do not accept “lunar eclipse”]

TOSSUP 20
SOCIAL STUDIES

Xerox granted this company three days’ access to its PARC laboratory; the Lisa, one of the first computers with a GUI, was the result. Its founder returned as CEO in 1997 and announced a partnership with Microsoft. Its ‘1984’ commercial consisted of a woman running towards a giant television screen and throwing a sledgehammer. What makers of the Macintosh line of computers now focus on products like the iPhone? 

ANSWER: Apple Computer, Inc.

BONUS 20
MATH

THIS IS A COMPUTATION QUESTION. If A = 26, B = 25, etc., through Z = 1, what are the numerical values of the following?

A.
X plus B plus K.


ANSWER: 44
B.
V plus F plus R plus X.

ANSWER: 38
C.
T times L times C.


ANSWER: 2520
D.
Y times C times T times H.

ANSWER: 6384
TOSSUP 21
LITERATURE

This novel’s protagonist and her three siblings attend the Great Faith Elementary and Secondary School. They are also told to avoid the Wallace Store at all costs, and are discriminated against during a visit to Strawberry, Mississippi. T.J. Avery manages to get Mama fired from her job and nearly gets Stacey killed. What novel by Mildred D. Taylor focuses on Stacey’s younger sister, Cassie Logan?

ANSWER: Roll of Thunder, Hear My Cry
BONUS 21
MISCELLANEOUS

Identify these 1950s performers. 

A.
He coined the term ‘music video’ in 1959, but his early death meant his only hit was ‘Chantilly Lace.’


ANSWER: the Big Bopper or Jiles Perry (JP) Richardson
B.
They wrote some of their own songs, such as ‘Till I Kissed You,’ ‘Cathy’s Clown,’ and ‘When Will I Be Loved.’


ANSWER: the Everly Brothers (accept the Everlies)

C.
This Canadian also wrote the Tonight Show’s theme and hit the charts in 1957 with ‘Diana.’ He returned to the top with ‘Having My Baby.’


ANSWER: Paul Anka
D.
The first non-American to top the Billboard charts did so in 1952 with ‘Auf Wiederseh’n Sweetheart.’ What Dame of the British Empire also recorded ‘(There’ll be Bluebirds Over) The White Cliffs of Dover?’


ANSWER: Vera Lynn
TOSSUP 22
SOCIAL STUDIES

Its government under John Sevier collapsed after extensive Native American raids in 1788, after attempts to place it under Spanish rule failed. In 1785, seven states had voted to admit it to the Union, but the person for whom it was named declined to support its effort. Much of modern northeast Tennessee was the site of what short-lived state? 

ANSWER: State of Franklin
BONUS 22
SOCIAL STUDIES

Answer the following about New York City.

A. 
All or nothing, name the 5 boroughs of New York


ANSWER: Queens, Manhattan, Bronx, Staten Island, Brooklyn
B. 
The most populous of the 5 boroughs.


ANSWER: Brooklyn

C. 
This body of water separates Manhattan from Queens and the Brooklyn


ANSWER: East River

D. 
This body of water separates Manhattan from the Bronx.


ANSWER: Harlem River

TOSSUP 23
LITERATURE

This Bible book is called Debarim (deh-bar-im), or ‘words,’ in Hebrew. The Greek name in its Septuagint name means, ‘a copy of the law.’ It contains three discourses of Moses that include a repetition of many earlier laws. Some rabbis believe Joshua wrote the last few verses of this book, as the ending depicts the death of Moses. What last book of the Torah is the fifth book in the Old Testament? 

ANSWER: Deuteronomy

BONUS 23
LITERATURE

Given a line from American poetry, give the author.

A.
“I think that I shall never see/A poem lovely as a tree.”

ANSWER: Joyce Kilmer
B.
“Listen, my children, and you shall hear/Of the midnight ride of Paul Revere.”

ANSWER: Henry Wadsworth Longfellow
C.
“These woods are lovely, dark, and deep/But I have promises to keep.”

ANSWER: Robert Frost
D.
“I’m nobody – who are you?”

ANSWER: Emily Dickinson
TOSSUP 24
MATH

THIS IS A COMPUTATION QUESTION. How many seconds are in one and a half hours?

ANSWER: 5400 seconds

BONUS 24
LITERATURE

Identify these Jewish denominations.

A.
This sect, the rival of the Pharisees, did not believe in the resurrection of the dead. They disappeared after the fall of the Temple.


ANSWER: Sadducee(s)

B.
This offshoot of the Haredi movement was founded by the Ba’al Shem Tov in the 18th century, and dislikes the label ‘ultra-Orthodox.’


ANSWER: Hasidic or Hasidism
C.
This movement, the most liberal of the three modern denominations in the US, was founded in the 19th century in Germany as a response to Enlightenment principles.


ANSWER: Union for Reform Judaism or Israel Movement for Progressive Judaism

D.
This movement, also called Masorti, seeks a middle ground between Reform and Orthodox Judaism.



ANSWER: United Synagogue of Conservative Judaism

TOSSUP 25
MATH

THIS IS A COMPUTATION QUESTION. In lowest terms, what is 5/8 plus 5/6 minus 21/24?

ANSWER: 7/12
BONUS 25
MATH

THIS IS A COMPUTATION QUESTION. Solve the following trigonometry values. Please simplify radicals. 

A.
Cosine of pi over 4 radians.

ANSWER: square root of 2 over 2
B.
Sine of 5 pi over 6 radians.

ANSWER: .5 or 1/2
C.
Tangent of 3 pi over 4 radians.
ANSWER: -1
D.
Sine of pi over 3 radians.

ANSWER: square root of 3 over 2
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH

THIS IS A COMPUTATION QUESTION. If x = 9 when y = 14 and maintains that ratio, what does x equal when y = 182?

ANSWER: x equals 117
TOSSUP 27
SOCIAL STUDIES

The author of this work sought to “bring political economy by criticism to a point where it can be dialectically represented;” in it, the concept of commodity fetishism is explored. Three of its four volumes were published after its author’s 1883 death; the last is titled Theories of Surplus Value. The exploitation of laborers and the ultimate rise of a Communist society are the focus of what work by Karl Marx?

ANSWER: Das Kapital (dahs KAH-pee-tahl)

TOSSUP 28
MISCELLANEOUS

An example of a “true” one of these is a ball that passes through Fenway Park’s outfield scoreboard or lodges in the Metrodome’s roof. They became more common in 1930, when the definition of a home run was tightened –they often have the effect of denying a runner on first base a run. What occurs most often when a baseball lands in fair territory, then bounces over the fence, allowing runners to advance two bases?

ANSWER: ground-rule double (DO NOT accept or prompt on “double”)

TOSSUP 29
SCIENCE

It is mined in Sudbury, Canada; Norilsk, Russia; and Riddle, Oregon.  Its Raney type is an alloy with aluminum.  Postulated to be found in the inner core with iron, its most abundant isotopes have mass numbers 58, 60, and 62.  Name this transition metal element with atomic number 28 and symbol Ni, which shares its name with a five-cent coin. 

ANSWER: nickel
TOSSUP 30
LITERATURE

A tribe called the Éothéod (ay-oh-thay-awd) was the ancestors of this kingdom, which was continually at war with the Dunlendings. Its ‘Muster,’ or Army, was nearly all cavalry, and was alerted by a series of beacons lit along the White Mountains, with the last one at its capital of Edoras, where kings such as Eomer and Theoden ruled. What kingdom in Middle-Earth was located to the north of Gondor? 

ANSWER: Rohan or Rohirrim
TOSSUP 31
SCIENCE

Also known as methanal (meh-thuh-nal), it has a molar mass of 30 and is an intermediate in the combustion of methane.  Its uses include disinfecting, preserving vaccinations, treating warts, producing glue, and fixing tissues.  Name this possible carcinogen that has molecular formula CH2O.

ANSWER: formaldehyde
TOSSUP 32
LITERATURE

This novel’s main characters move from Gladstone, Pennsylvania, to Charlottesville, Virginia, and escape at the end to Sarasota, Florida. The main characters are the four children of the Dollanganger family – Chris, Catherine, Cory, and Carrie. Their grandmother Olivia and mother Corinne imprison them in Foxworth Hall. Revelations about incest and child abuse are in what first novel by V.C. Andrews? 

ANSWER: Flowers in the Attic
TOSSUP 33
SCIENCE

Native to East Asia, this domesticated plant’s scientific name is Glycine max and its leading producer is the United States.  It has trifoliate leaves and its seeds grow in hairy pods.  It can be used in vegetable oil, substitute milk, and biodiesel.  Name this legume crop that is used in tofu.

ANSWER: soybean
TOSSUP 34
FINE ARTS

Witches’ Sabbath is one of his ‘Black Paintings,’ which also include Saturn Devouring His Sons. He produced several prints from the Peninsular War called The Disasters of War. He may have painted the Duchess of Alba in his The Clothed Maja (mah-hah) and The Nude Maja. Who served as royal painter to Charles III and Charles IV of Spain? 

ANSWER: Francisco José de Goya y Lucientes

TOSSUP 35
SOCIAL STUDIES

All but two of his 20 predecessors had either been murdered or killed in battle. After this low born Illyrian defeated his internal and external foes, he took away the last vestiges of the Republic, fought hyperinflation, started the last major Roman persecution of Christians, and reformed the succession system. He then retired to become a cabbage farmer. What Roman Emperor set up the tetrarchy, splitting the empire into two? 

ANSWER: Diocletian

TOSSUP 36
LANGUAGE ARTS

This three-letter word comes to us from a Latin word meaning ‘cloth.’ It refers to a mathematic relation where each element of the domain is associated with an element of the range. When something is wiped off of this, it is taken out of existence; when something is put on it, it becomes known to a wide audience. What word describes a large sheet of paper detailing an area’s geographic features? 

ANSWER: map
TOSSUP 37
MATH

THIS IS A COMPUTATION QUESTION. What is the greatest common factor of 216, 72, and 108?

ANSWER: 36
TOSSUP 38
SOCIAL STUDIES

He had left the stock market in 1928 after receiving stock tips from his shoeshine boy. He retired from managing his business in 1896 and focused on philanthropy such as giving dimes to every child he met and giving $80 million to the University of Chicago. When he died in 1937, his net worth was equal to 1.5% of the US’s GDP, despite his business being broken up in 1911. Who was the founder of Standard Oil? 

ANSWER: John D. Rockefeller
TOSSUP 39
LITERATURE

19th century writers sought to be satirized in his English Bards and Scotch Reviewers. He also wrote The Giaour (jow-er) about vampires, and The Corsair, an autobiography set to piracy. The Athenian suburb of Vironas is named for him, as he died during the Greek War of Independence. What poet, much loved by the ladies, wrote Childe Harold’s Pilgrimage and Don Juan? 
ANSWER: George Gordon (6th Baron) Byron (accept ‘Lord Byron’)

TOSSUP 40
MATH

THIS IS A COMPUTATION QUESTION. If x equals 15 when y equals 42 and are inversely proportional, what is x when y equals 45, given that 15 times 42 equals 630?

ANSWER: x equals 14
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
FINE ARTS

In this painting, a man in a top hat represents the bourgeoisie and a boy carrying pistols represents the lower classes. Its central figure is a woman, wearing a Phrygian cap and falling out of her top. She is holding a musket in one hand and carrying the French tricolore with the other. She is leading other people over a pile of corpses in what painting by Eugène (uh-zhen) Delacroix that celebrated the July Revolution of 1830? 

ANSWER: Liberty Leading the People or La liberté guidant le peuple
BONUS 41
MATH

THIS IS A COMPUTATION QUESTION. If A = 26 through Z = 1, what are the numerical values of the following?

A.
F times W.


ANSWER: 84

B.
B times Y times P.

ANSWER: 550
C.
H times V times E.

ANSWER: 2090
D.
W times Y times C times X.
ANSWER: 576
TOSSUP 42
SCIENCE

It is the home to the largest known crater in the solar system.  Some would consider it to be part of a dual planet system due to its size, being only 1/4 the size of the planet it orbits.  One of the Homeric hymns includes one pairing the patron goddess of this object with Helios. This is what object, the only natural satellite of Terra?

ANSWER: The Moon or Luna
BONUS 42
SCIENCE

Name these parts of a flower:

A.
The modified leaves that surround the reproductive organs and attract insects

ANSWER: petal(s) [do not accept “corolla”]

B. 
The male spores stored in the flower

ANSWER: pollen
C. 
The stalklike structures that receive pollen

ANSWER: pistil(s)

D. 
The typically green leaves that surround the petals

ANSWER: sepal(s)

TOSSUP 43
MISCELLANEOUS

This car was similar to the Mercury Bobcat and was sold between 1971 and 1980, and was also the basis for the Mustang II. Its makers decided an making an $11 repair was less expensive than paying off lawsuits, as the car supposedly had a gas tank that was subject to puncturing and explosions. What Ford car became the subject of safety concerns in rear-end collisions?

ANSWER: Ford Pinto
BONUS 43
SOCIAL STUDIES

Answer these questions about ancient Greece.

A.
What war, lasting between 431 and 404 BC, saw Athens and Sparta struggle for Greek supremacy?

ANSWER: Peloponnesian War

B.
What Athenian’s unfortunate death in 429 BC brought an end to Athens’ Golden Age?

ANSWER: Pericles
C.
The war’s turning point was probably the disastrous Athenian siege of what city on Sicily between 415 and 413 BC?

ANSWER: Syracuse
D.
The chief proponent of the expedition against Syracuse was what general, notable for switching sides several times during the conflict?

ANSWER: Alcibiades
TOSSUP 44
LITERATURE

At the battle of Gibeah, this tribe was nearly wiped out. Its ancestor is referred to as a ‘ravenous wolf’ in the Blessing of Jacob, and its members learned how to fight left-handed, making the Israelite army the more dangerous. It was the junior partner to the tribe of Judah after Israel split into two. What tribe is named for the son Rachel gave birth to before dying? 

ANSWER: Benjamin

BONUS 44
LITERATURE

Answer the following questions about an American author.

A.
This author is best known for writing a 1965 “non-fiction novel” about the slaying of the Clutter family in Holcomb, Kansas in 1959.

ANSWER: Truman Capote
B.
Name that novel that Capote wrote.

ANSWER: In Cold Blood

C.
Capote was a childhood friend of what female American author of To Kill a Mockingbird?

ANSWER: Harper Lee
D.
Capote is said to be the inspiration for what friend of Jem and Scout’s in To Kill a Mockingbird?

ANSWER: Dill Harris

TOSSUP 45
SCIENCE

He demonstrated that combustion required oxygen, completely disproving the phlogiston theory. The law of conservation of mass, the first list of elements, and the metric system are among his accomplishments. ‘The Republic has no need of scientists,’ was a judge’s reply that condemned what ‘Father of Chemistry’ to the guillotine?

ANSWER: Antoine (an-TWAHN) Lavoisier (lah-VWAH-zee-ay)

BONUS 45
SOCIAL STUDIES

Answer these questions about the Kansas-Nebraska Act.

A.
What President signed the Act into law in 1854?


ANSWER: Franklin Pierce
B.
What Illinois Senator, famous for his debates with Abraham Lincoln, was the Act’s chief supporter?


ANSWER: Stephen A. Douglas
C.
The Topeka Constitution was Kansas’ first attempt at a state constitution. Name any of the other three.


ANSWER: Lecompton, Leavenworth, or Wyandotte
D.
What parallel was used to split the Kansas and Nebraska Territories/


ANSWER: 40th parallel north 

TOSSUP 46
SOCIAL STUDIES

Islands in this body of water include Tarout, Kharg, Bubiyan, Abu Musa, and al-Muharraq (moo-hah-RAK). Its western end is the Shatt al-Arab delta, and it empties into the Gulf of Oman via the Straits of Hormuz. What body of water is the world’s largest source of crude oil?

ANSWER: Persian or Arabian Gulf

BONUS 46
SCIENCE

Answer these questions about wind speeds:

A. 
On the Beaufort scale, what name is given to winds with speeds of 74 miles per hour or greater?

ANSWER: hurricane(-force)

B. 
What four-letter term describes winds that score an 8 or 9 on the Beaufort scale, ranging from 39 to 54 miles per hour?

ANSWER: gale(-force)

C. 
The National Hurricane Center uses what term to describe storms with maximum sustained winds just below hurricane force?

ANSWER: tropical storm
D. 
A tropical storm can weaken further, to what level?

ANSWER: tropical depression
TOSSUP 47
MATH

THIS IS A COMPUTATION QUESTION. What is the median of 41, 26, 32, 17, 385, 6, 21, and 57; given that these numbers from least to greatest are 6, 17, 21, 26, 32, 41, 57, and 385?

ANSWER: 29
BONUS 47
LITERATURE

Name these characters from William Shakespeare’s Hamlet.

A.
He killed his brother to become King of Denmark.
ANSWER: Claudius
B.
This son of Polonius killed Hamlet.


ANSWER: Laertes
C.
This daughter of Polonius was told, ‘Get thee to a nunnery.’

Answer:  Ophelia
D.
This Norwegian ends up taking over Denmark at the play’s end.  

ANSWER:  Fortinbras
TOSSUP 48
SOCIAL STUDIES

Another woman with this name was the wife of Louis XIV. She founded the world’s first military academy. After a smallpox epidemic of 1767, she insisted her 16 children be inoculated against it. She was succeeded by her son Joseph II; due to the Salic Law, her husband Francis I was Holy Roman Emperor. The mother of Marie Antoinette and the only Habsburg woman to rule was what Austrian empress? 

ANSWER: Maria Theresa
BONUS 48
MISCELLANEOUS

November 3rd 2007 was a big day in robotics, answer the following: 

A. 
This government entity started the Grand Challenge in 2004 and pits driverless vehicles against the terrain. 


ANSWER: Defense Advanced Research Projects Agency

B. 
The challenge this year moved from extreme terrain to the city and was given this nickname


ANSWER: Urban Challenge

C. 
The university along with General Motors won the DARPA Grand Challenge in 2007


ANSWER: Carnegie Mellon

D. 
Carnegie Mellon used this model of SUV for the event.


ANSWER: Chevrolet Tahoe

TOSSUP 49
LITERATURE

After accusations of racism, they changed from pygmies from ‘the very deepest and darkest part of the African jungle’ to dwarves with ‘golden-brown’ hair and ‘rosy-white’ skin. They like to break out in song, especially when misfortune befalls a mischievous child, and were hired to minimize the risk of candy recipes being leaked. Cocoa beans were the wages of what diminutive employees of Willy Wonka?  

ANSWER: Oompa-Loompas

BONUS 49
LANGUAGE ARTS

Name these words that have to do with words from descriptions.

A.
This six-letter word ending in “X” from the Latin for “extended” is used to describe something excessively wordy.

ANSWER: Prolix

B.
This seven-letter word that starts with a “V” can also mean “wordy.”

ANSWER: Verbose

C.
This twelve-letter “L” word describes the people who study words.

ANSWER: Lexicologist (do NOT accept “lexicographist” or “lexicographer”)

D.
This nine-letter “E” word is the study of the history of words.

ANSWER: Etymology

TOSSUP 50
MATH

Named after a British minister and mathematician, its applications include the Monty Hall problem, explaining frequency of false positives in drug tests, and conditional probabilities.  Name this theorem that states that the probability of A given B equals the probability of B given A times the probability of A divided by the probability of B.

ANSWER: Bayes’ theorem or rule or law

BONUS 50
MATH

What types of conic sections are the following?

A.
x squared plus y squared equals 345.


ANSWER: circle
B.
x squared over 45 plus y squared over 81 equals 1.
ANSWER: ellipse
C.
x squared over 6 minus y squared over 24 = 1.
ANSWER: hyperbola
D.
y = 2 times (x minus 76) squared minus 34.

ANSWER: parabola
END OF MATCH

Spare questions
TOSSUP 51
FINE ARTS

Camille Saint-Saëns (sawn sah-awns) thought there was too much bassoon. Its initial choreography Vaslav Nijinsky tried to shout instructions to the dancers, but arguments in the audience drowned out the orchestra. Perhaps they were arguing the young girl shouldn’t be sacrificed. On May 29, 1913, a riot broke out at the premiere of what ballet by Igor Stravinsky about a pagan ritual held between winter and summer? 

ANSWER: The Rite of Spring 

BONUS 51
FINE ARTS

Given a painting, identify the artist.

A.
The Scream.


ANSWER: Edvard Munch
B.
The Luncheon on the Grass.
ANSWER: Édouard Manet (NOT ‘Monet’)
C.
Nighthawks.


ANSWER: Edward Hopper
D.
Musicians in the Orchestra.
ANSWER: Edgar Degas
TOSSUP 52
MISCELLANEOUS

This driver has won Rookie of the Year in three series, first with the US Auto Club in 1991, and then with the Indy Racing League in 1996, before earning his most recent award.  He earned his first Busch Series win in 2005 at Daytona, 5.5 years after his first Winston Cup victory in September 1999 at Richmond. What two time champion in NASCAR’s top series is NASCAR’s ‘bad boy’ and drives the #20 Home Depot car?

ANSWER: Tony Stewart
BONUS 52
SOCIAL STUDIES

Given an English ruler, name any year in his or her reign.

A.
Elizabeth I.

ANSWER: any year between 1558 and 1603
B.
Henry V.

ANSWER: any year between 1413 and 1422

C.
Richard I.

ANSWER: any year between 1189 and 1199

D.
Charles I.

ANSWER: any year between 1625 and 1649
TOSSUP 53
LANGUAGE ARTS

This word is used to describe the ratio between the weight and length of a given piece of yarn. It comes from a Latin word meaning ‘companion,’ and is associated with a European noble rank equal to earl. A lawyer will use this word to refer to separate charges within an indictment. The ‘rank’ of jazz pianist William Basie was what word, also associated with a purple Muppet that likes to say numbers in order? 

ANSWER: count

BONUS 53
LANGUAGE ARTS

Given a sentence, identify how many adjectives are in the sentence. Remember, articles count as adjectives!

A.
I gave her award to her opponent, who then graciously thanked her.


ANSWER: two (the first two uses of ‘her’)

B.
The blue sky was beautiful. 


ANSWER: three (the, blue, and beautiful)

C.
Seven red diamonds stared up as he lay his final card down.


ANSWER: four (seven, red, his, final)

D.
The eighth attack failed, much like the other attacks.


ANSWER: four (the, eighth, the, other)

TOSSUP 54
SOCIAL STUDIES

This nation’s military dictator between 1968 and 1975, Juan Velasco, sought to ally his nation with the Soviet Bloc. The more moderate Francisco Morales Bermudez restored democracy in 1980. Massive inflation has led to the sol being replaced by the inti, which was then replaced with the nuevo sol. Alan Garcia is the current President of what nation that had to deal with the Tupac Amaru and Shining Path guerrilla rebellions?

ANSWER: Peru
BONUS 54
MATH

THIS IS A COMPUTATION QUESTION. Solve the following factorial problems.

A.
Ten factorial divided by six factorial.


ANSWER: 5040
B.
Twelve factorial divided by nine factorial.

ANSWER: 1320
C.
Four factorial plus five factorial.


ANSWER: 144
D.
Three factorial plus six factorial plus two factorial.
ANSWER: 728
TOSSUP 55
MATH

Some of this project’s programs include Octave, a direct challenger to Matlab, and GIMP, a free photo editing program much like Photoshop. From this project has come a complier called GCC, which works for all the popular computer languages. Name this project built of entirely free open source code, whose goal was to create a operating system not like Unix.

ANSWER: GNU (G-New) or GNU’s Not Unix
BONUS 55
MISCELLANEOUS

Answer the following about movies released for the 2007 holiday season.

A. 
This movie starring Vince Vaughn is about the live of Santa’s brother


ANSWER: Fred Clause
B. 
This Robert Zemeckis animated film comes from an Old English poem


ANSWER: Beowulf
C.  
This movie starring Nicole Kidman is the first part of the His Dark Materials trilogy.


ANSWER: The Golden Compass
D. 
This live action movie is based on a cartoon that premiered in 1958 stars Jason Lee as Dave Seville. 


ANSWER: Alvin and the Chipmunks 
TOSSUP 56
SCIENCE

THIS IS A COMPUTATION QUESTION. What is the molecular mass of sucrose, a sugar of chemical formula C12H22O11, given that carbon’s atomic mass is 12, hydrogen’s atomic mass is 1, and oxygen’s atomic mass is 16?

ANSWER: 342
BONUS 56
LITERATURE

Who wrote these works?

A.
Crime and Punishment.

ANSWER: Fyodor Dostoevsky
B.
Finnegan’s Wake


ANSWER: James Joyce
C.
The Return of the Native

ANSWER: Thomas Hardy
D.
The Good Soldier


ANSWER: Ford Maddox Ford
TOSSUP 57
LITERATURE

He wrote unpublished novels such as The Passing and The Royal Murders while a college student. In 1993, he settled in North Carolina, and began writing novels. The Guardian and Nights in Rodanthe are currently being made into movies. Who created the characters of Jamie Sullivan and Landon Carter in A Walk to Remember and Noah and Allie Nelson in The Notebook?

ANSWER: Nicholas Sparks
BONUS 57
SCIENCE

Name these phase changes:

A.
Liquid to solid

ANSWER: freezing [accept word forms for all parts]

B. 
Solid to gas

ANSWER: sublimation
C. 
Gas to liquid

ANSWER: condensation
D. 
Liquid to gas; boiling is one form

ANSWER: evaporation or vaporization
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